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The following information relates to a
manufacturing process of a company .
Number of employees 200

40

Weekly hours

Standard wage rate
Standard output 250 units per hour

During the first week of February, four
employees were paid @ 45 paise per hour
and two employees @ 55 paise per hour, the
rest employees were paid at standard rates.
Idle time is one hour per employee. Actual
output was 10250 units, calculate Labour cost

50 paise per hour

variances.
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Note : Answer all questions. All questions carry equal

marks.

L.

IS / Unit-1
YaYhig @ik i YN SIfaT 37 T5=T
favioand saEe | YeuSE dEiET 3R &5
GiHT H =R TR
Define Management Accounting and discuss

its characteristics. Explain the difference
between = Management Accounting and

Financial Accounting.
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From the following information, you ar€
required to prepare the Balance Sheet of Alok
Company Ltd. as on 31st March, 2022 :

Current Ratio 1.60: 1. Liquid Ratio 1.10: L,
Inventory turnover 6 times. Gross Profit ratio
20%. Debt Collection Period 1.92 months,
Fixed Assets urnover 1.25 times, Reserve and
Surplus to Capital 0.25 : 1. long-term loan to
Net worth 0.5: 1. Fixed Assets to Net worth

120 - 1. sales for the year ¥ 7,50,000

ZarTe / Unit-l1

FrEiEs AEF-3 (AS-3) F F=d § Uhs
vaE faerm § 4 wEn 1 FaE § %
yae F T &1 famw 3 e Fifen
Explain in detail the calculation of cash flow

from three types of acuvities in cash-flow
statement with reference to AS-3.
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7
THe & fau sw @ 7o 5,00,000
W 9 % was § st s fEr 300,000
SR fern e 2,00,000
IYR W FAT=R o= 60,000
RO H1 PraE a9g fwan 1,60,000
FafET ¥ oy 1,00,000
The H HYEG FA H 6,00,000
Af<m Fog 1,00,000
Prepare fund flow statement with given details :
E4

Issue of shares for cash 5,00,000
Issue of shares against the

purchase of machinery 3,00.000
Borrowings in cash 2.00,000
Sale of furniture on credit 60.000
Debentures redeemed 1.60.000
Profit from operation 1.00,000

Purchases of machinery for cash
Closing cash

TS / Unit-111
Y U HEEl ok T@IE® © | HEA H
yeYy WaIde fEieiEd SWE W H1Y &
T A dEd

©.00,000
1,00,000
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You are management accountant of a company.
The managing director of the company seeks
your advice on the following problem

The company produces a variet
each hav
product

y of products
ing a number of component parts,

‘B” takes 5 hours to produce on a
machine working at full capacity. ‘B’ has a

selling price of ¥ 50 and a marginal cost of

¥ 30 per unit. ‘4/10" a component part could

be made on the same machine in 2 hours for
a marginal cost of ¥ § per unit. The suppliers

price is ¥ 12.50 per unit. Should the company

make or buy ‘4/10’ 2 Assume that machine
hour is limiting factor,

34T / OR

() ¥10,00,000 #t fazt o Y
(d) ¥12,00,000 # fagt 7 T FT A

(e) ¥2,00,000 # =y sfsig =3 ¥ fom
FavaE fagy

4
EER 3,00,000
WA : IfEE e = 6,00,000

HIRH 2,00,000
IR T A 60,000
e =Y 1,40,000

From the following find out : = =

(a) P/V Ratio

(b) BEP

(c) Profit for the sale of ¥ 10.00.000
(d) Margin of safety from the

sale of
¥ 12,00,000

(e) Required sales to eam a profit of
¥ 2.00,000

3

Sales 8,000,000

Less : Vanable Cost 6.00.000

Contribution 2.00,000

Less : Fixed Cost 00,000

Net profit 1.40,000
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za@Ts / Unit-1V
, 9
e P @ WA © 7 TgH
= control ? Discuss
What 1s meant by ﬂ:&.mﬁmi
its merits and limitations.
37eraT / OR
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A company produces a standard product.
estimated cost per unit are as follows -
Raw Materials ¥ 4, Direct labour 7 2
overheads ¥ 5.

the

. Vanable

The semi variable cost are as follows -

Indirect materials ¥ 235. Indirect labour 7 156,
Maintenance and Repairs ¥ 570.

The variable cost per unit included in semi-
variable are :

Indirect materials ¥ 0.05, Indirect labour

¥ 0.08, Maintenance and Repairs ¥ 0.10.
The fixed cost are as follows - Factory
overhead ¥ 2,000, Administrative overhead
¥ 3,000, Selling and distribution overhead
¥ 2,500. The fixed cost are for 70% normal
capacity producing 700 units. The selling price
i1s ¥ 30 per unit.

Prepare Flexible budget for 60%. 80°, and

100% normal capacities with the help of
above data.

$&T3 / Unit-V
5. wHN oE fafy = wftvmwr dfse [ =%
%ﬁ.ﬁﬁﬂ%ﬁ&ﬁﬂmﬂﬂﬁi _
Define Standard Costing and discuss it
objects, advantages

>
and lhimitations.
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